Fittings. name Quatity | Material Size & spec SKU
Inlet hose 1 PEX+SS M10X1+1/2 AF019027
Inlet hose 2 PEX+SS M10X1+3/8 AF019026
Aeratoy Holder 1 H59 M24+1 AF019181
Aeratoy set 1 ABS $21%13.8 AF019023
Gasket 1 NER $23+3 AF019019
Bide Handle 1 ABS AF019161
Fast Fix 1 Zinc ¢ 44+20 AF019002
Screw 1 SS M5%4 AF019005
Rubber Cover 1 NBR b 4.2#3.3 AF019151
Body 1 H59 AF019281
0-Ring 1 NBR 38+ 2.6 AF019016
Snap Ring 1 POM $31%7.7 AF019030
I Mechanism 1 H59 b 38#27.5 AF019029
|l 07 0-Ring 1 NBR $39¢2.6 | aro19017
: 06 Cartridge 1 ABS 40# AF019001
L 05 | Pixing Mut 1 H59 M42+1. 25 AF019021
04 Nut Cover 1 H59 M42X#1. 25 AF019081
B 03 Screw 1 S8 M5=8 AF019007
02 Cover 1 ABS $9.2#6.2 AF019141
01 Handle 1 Zinc AFOT9051
204, Quantity | Scale
= 1
AF012061
19 AF012060 - AF012069
- AF0120611-AF0120630




